
LEANCLOUD  - 



▸  

▸  

▸  

▸  

▸



▸  

▸  

▸  

▸



 1
 2

  3

  N

0

0

1

1



 1
 2

  3

  N

0

0

1

1



 p 

1. receive(p)  (p, m) 
 

2.  

3. send(p’, m’), send(p’’, m’’), …  

4.  

5.  1 



‣  

‣  

‣  p  (p, m)  p 
(p, m) 



‣
 

‣
 

‣  

‣



‣  0  1  

‣  

‣  

‣  

‣



 1

C1

C2 C3

C4

 1

 2

 1

 2



 0  
1  

 2

0 00 0 00 00 0 00 0 0

1 11 1 11 11 1 11 1 1

0 00 0 00 0 10 11 1 1
0 00 0 00 0 11 11 1 1

……

……

0

1

0?
1?



 3  C  e=(p, m)  e 
 C  D

C

C

D

 e 

e

D  0  

 1 



C

D

e e

C1C0
e’=(p’,m’)

D0 D1
 0  1



e e

C1C0
e’

D0 D1

 p != p’

e’

 p = p’  p  C0 
 t  p 

e

e

C1

C0

e’

D0

D1

t

t A

e

E0

e

O
e’

E1
t

1

0



▸

 

▸  3

▸



▸  1  

▸  

▸  

▸


